
Nombres Relatifs (J)Remplissez l’espace vide.9 × ____ = 108 ____ × 9 = 108 11 × ____ = 7712 × ____ = 108 9 × ____ = 108 7 × ____ = 77108 ÷ 9 = ____ 108 ÷ ____ = 9 77 ÷ 11 = ____108 ÷ ____ = 9 108 ÷ 9 = ____ 77 ÷ ____ = 11
5 × ____ = 50 12 × ____ = 108 6 × 6 = ________ × 5 = 50 ____ × 12 = 108 6 × 6 = ____50 ÷ 5 = ____ ____ ÷ 12 = 9 36 ÷ 6 = ________ ÷ 10 = 5 ____ ÷ 9 = 12 36 ÷ ____ = 6
4 × ____ = 32 11 × 5 = ____ 3 × ____ = 12____ × 4 = 32 5 × ____ = 55 4 × ____ = 12____ ÷ 4 = 8 ____ ÷ 11 = 5 ____ ÷ 3 = 432 ÷ 8 = ____ ____ ÷ 5 = 11 12 ÷ ____ = 3

____ × 10 = 50 11 × ____ = 99 ____ × 4 = 4810 × ____ = 50 ____ × 11 = 99 4 × ____ = 4850 ÷ 5 = ____ ____ ÷ 11 = 9 48 ÷ ____ = 450 ÷ ____ = 5 99 ÷ 9 = ____ 48 ÷ ____ = 12
5 × 4 = ____ 8 × ____ = 72 12 × ____ = 132____ × 5 = 20 9 × 8 = ____ 11 × ____ = 13220 ÷ 5 = ____ 72 ÷ 8 = ____ 132 ÷ ____ = 1120 ÷ ____ = 5 72 ÷ ____ = 8 132 ÷ 11 = ____
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Nombres Relatifs (J) RéponsesRemplissez l’espace vide.9 × 12 = 108 12 × 9 = 108 11 × 7 = 7712 × 9 = 108 9 × 12 = 108 7 × 11 = 77108 ÷ 9 = 12 108 ÷ 12 = 9 77 ÷ 11 = 7108 ÷ 12 = 9 108 ÷ 9 = 12 77 ÷ 7 = 11
5 × 10 = 50 12 × 9 = 108 6 × 6 = 3610 × 5 = 50 9 × 12 = 108 6 × 6 = 3650 ÷ 5 = 10 108 ÷ 12 = 9 36 ÷ 6 = 650 ÷ 10 = 5 108 ÷ 9 = 12 36 ÷ 6 = 6
4 × 8 = 32 11 × 5 = 55 3 × 4 = 128 × 4 = 32 5 × 11 = 55 4 × 3 = 1232 ÷ 4 = 8 55 ÷ 11 = 5 12 ÷ 3 = 432 ÷ 8 = 4 55 ÷ 5 = 11 12 ÷ 4 = 3
5 × 10 = 50 11 × 9 = 99 12 × 4 = 4810 × 5 = 50 9 × 11 = 99 4 × 12 = 4850 ÷ 5 = 10 99 ÷ 11 = 9 48 ÷ 12 = 450 ÷ 10 = 5 99 ÷ 9 = 11 48 ÷ 4 = 12
5 × 4 = 20 8 × 9 = 72 12 × 11 = 1324 × 5 = 20 9 × 8 = 72 11 × 12 = 13220 ÷ 5 = 4 72 ÷ 8 = 9 132 ÷ 12 = 1120 ÷ 4 = 5 72 ÷ 9 = 8 132 ÷ 11 = 12
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